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Lesson 6.6 — Solving Trigonometric Equations |

. Warm-Up:
1. Find all value of 8 that satisfies the equation in the interval: 0 < 6 < 2.
a. c059=—% b. tan8 =3 C. sinf =0
Cos is negative in Tan is positive in 0,1
Q2 and Q3 Qland Q3
T 2T s
QZ T — 3T 3 Ql 3
s 4 T 4T
Q3-7T+§—? Q3.n+§—?

**How does your solution differ if [ didn’t give you a range restriction? **

Il. Solve for all values of 6.

2. 5sin@ —3sinf —1 3. 3tan’8—-1=0
2sinf@ = -1 tan20=§
.. . . 1
Sin is negative in tan @ = iﬁ
Q3 and Q4 All Quadrants
sin9=n+§ 9=%+2nn
sin§ = 2m — = 9=5§+27m
6=7?n+27m 0=%+2nn
6=11T”+27m 0=n7n+27m
4. cot6cos?6 = 2coth 5. 2sin’6 +3sin8+1=0
cotf (cos?0 —2)=0 2sin?0 + 2sinf +sinf+1=0
cotd =0 2sinf (sinf@+ 1)+ 1(sin8+1) =0
ezg;%” (2sin@ + D(sin@ +1) =0
2sin6+1=0 sin6+1=0
sinez—% sinf = —1
9=%”+2nn 9:37”+27m
11m

0 =—+42mn
6



1. Practice

5. 3sec’ —2tan’8 =4 6. sinf ++v2 = —sinf
3(tan®?0 + 1) —2tan?6 = 4 2sinf = —/2
3tan’6 +3 —2tan%0 =4 sinez%E
tan?6 =1 0=Tt+%=%ﬂ+2nn
tanfg = +1 0=27‘t—%=%n+27tn
s

9=Z+T[Tl
o=""14

= tm
7. 4cos’0 =3 8. sin?6 = 2siné
coszezz sinf (sind —2) =0
c059=i7\/§ sinf =0
9=§+Tm 0 =04+7nn
0="4

=3t
9. 2cos?8 —1=sinb 10. 4sin® 6 + 2sin?0 —2sinf —1 =0
2(1 —sin?6) — 1 =sind 2sin?0 (2sinf +1) — (2sinf +1) =0
2—2sin?8 —1=siné (2sin?0 —1)(2sinf8 +1) =0
2sin?0 +sinf —1=0 2sin?0—1=0 2sinf+1=0
2sin%26 +2sinf —sinf —1=0 sin29=§ sin9=—§
2sinf (sinf + 1) —1(sin@ + 1) = 0 sin9=i\% 0=m+>=""12mn
(2sin6 —1)(sin6 +1) = 0 sinf =+ 6 =21-%=1"142mn
2sinf—1=0 sin@+1=0 9:%+7m
sin49=l sinf = —1 9:3—n+nn
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